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(d) Shear stress oF S

(") Due do shear fore olone Saz -120kn (fom (a))

Longochinal shear flow = $Asg  (4om Dok Boob)
I .

Where AS" area of box above Cut 0”,}"05_)310-1\ S. o
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R=250mm /[ 0 (4—- P=1S00N

£z 10mm T’ZS-OANM-
(&) (‘:), Shear  T=250kNem
T-= 1 ( Data Book)
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, 7,250’*'03 = 63-7x10 N/ﬂll (é‘* ”P@»)

2« 028t x0-01

O_-'if = JSOD)‘]Dg = 955,('06 N/mL(9éJ HPA)
A 2T 25x00) |
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() Mohrs Girele for Stress ( e D) Sob on surface 307 =0
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— /Z‘)'ﬂ = 63.7 MPa
_.__,j I\4_. U;( = 95'5 MPO‘
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R=,/ 4’7-8’7' ¥ 637% = 79-6 MPa.
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conk.

(o) (1) conk Cy= 478 +796 = 3-8 M

()

O3 /s oF 266 ° clochose from. QWO’

Depth N = 300m

037 ~47.8-79-6 = —127.4 MPa

 tan 20 = 637 = /333 2 0:= 28.6°

/Wy,/.;y/,,w axs of shatt. ¥

Speed Mo krots D P= /500N, T = 250 dnjm -

, P\"LSSL)Fé v ?ﬂ)\ = |03x 9-81» 300

= 2‘94-)”06 M/mv)'
2~ 3 Mpa.

N G o Y sl

P=\Sookn

b
o:\:_ﬁk = —3"’0 XO'ZS
¢ o0l
= —75xPOé N/ML

(75MPa)

Cf[: "/8_2 = ‘_ZS = “375 MP&
2

47.8 o o}
_’%hc_zpa_/ Stress O, ac’lj - . ,/"/L B
o / ozé'éo -
_at 266 ,,C/Qééwh‘&,,,"’f?_’ff Y. / R

Fo



- a‘a_-

1R STrRuCTURES So™ 1999

(b) conk.

65 =75 Mfu

Tny =637 MPa

__>J (;_5)‘:95.5437.5; 133 MPa .

Sy, Ty

C = -)33-75 = — o4 M~a

R / 63754 (low75) =2 /6375229% = Tomh.

O, = —/jod +70 = - 34 M
U3 = =104 - 70 =~ )74 M
g2 O
Tax = /74 = 87 M e’ T Tomm A 20 [1-3)
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P = 4 + 2
m () ;(> o

(H) Low:sl— P , :
2P = (1402 P) = iz )20 wken 2 =)
D < i
e, when *=2  X=z2 = |44 (<3 ok)

P=rm(1+ 2 +é) = m(1H2z) = 3-83m

C-I.H) Fachal wid¥h mode 1n ‘;3 3((,) 30\/0-7\5 Since P= 3830'\
18 less thaa Lll-dih mode i '4:‘) 2(b) with P=4m.

_ (d) No. \/léld"lﬂe; ‘H\wr.‘:} re:;wrts,ducﬁ]c Eckawour‘ 40&,”0\»
He LN Lulvre mechanmsm boléudof. Orande 1s beiHle
hence \jneldﬂme_}}\éon:) covld not be uLsed.
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@ () $P= 1500 kn/
oH, Oy = 350mPa
0|

L = 210 GPa -

/
Buckhng P =T72E1  (4om Dak Book) where 4, =L = bm.
Le*
o L.
Iru;ldrrfﬂ'a PE-’(QL»z '500)(‘03)(62— = 26'/X/0 -m *
7?;;: T+ x 210x10° _ (26/0 m *)
_ , cbout weakest () )’—>/ax;;r
Yld‘dlnﬁ 63 = _E A > f = )Sc)c:))((o3 = 4—.29)(/9‘3/)7 z
A
»A - 09 »SSoxlo | /42,90”2)
From UC dables for 74?/4’ /_":;w?z: . /S2x/S2Xx37 or greares
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_ Dy 309 em *
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(%) L o) ogs Lt
T 4x1796 = 1796 = 3665 An | Bucks

= JEEEN ok 9%
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: (b) Conk.

(m) ormon 4 Farlire. governed by ety ot Pz 3854 kv

OPTION 2 Falore ﬁwun(a/ éy /,/c/%y at Pz 3645 kN

(W) orrion / OK

oPTION 2 INADERQUATE Sinte  required /oa/ yas jrm/y Han

A/té///y Jocd

-
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’ )-F
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| Pz /- e
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)

L PE A //,;?) = /755//_2/_5) = /796x0-S

5""20/%/?74/ P= 8949/4/\/
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A Z A Z
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{
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(8L (a)iy ont.
LW o= SZMP at 7;:7_1__-_1.75L_.
490 4+

(D) Mode 2wk ]\)hﬂ& ob D s crhead Lulvre mechamsm
with W= 32Mp et Model wnth W= Me .

491 L
Tz
RP‘ 4L B.

Yor Beam AR Moments abouk B. ( ZM=0)
Ra. 4k = W, 9K - 2w, 2/ + WL = O
4—

Ra= dw—w+Zw = 20w [llglw)
pn e

Rg = 3w—]2; —/484\)\«\/ 27w (1-65W)
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6
7L 2w
X 3
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A~ L, ¥ A &
2w 7L
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8 R
| |

Eve of Sowmons LR MODLTON
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